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K XWE ETKEMEBLERFEOSS KEEXRFICHYHEHE >

5 KEVRATLDARBERDOMEIL
(1) Bk it 5%

BATS (ERT) | fEEkRE (mS/8) =12 (%)
X R EHUK R ER 14 14,398
i Xt SRR FA (FHSFEEREFR) 10 9,041 62.8
M EM L (RS FEEREFR) 4 5,357
ShE AR BRI (S S EERE H) 3 4,081
mEL BR (R 11 FERZ) 10 9,041 62.8
(2) BKIEER (BEKE)
ERER (m) M ELiEE
BEE m’ff;% MREAE | | WEEE | WBEEAE
TR LIt (%) (%)
(TR
&L EKE (HHSEERE ) 244 0 20,030 20,274 1.2 1.2
=L B4R (S 1 FEXRZ) 1,342 0 18,932 20,274 6.6 6.6
(3) % KHEER
BT (&) | BEREESD (mS/B) M E=AEZE (%)
R EHKIEER 3 14,060
i Xt REMEF A (TS FEEREFR) 0 - 0
M= REE L (RIS FEERFFR) 3 14,060
SHit B R RRERE (RS EERES) 3 14,060
M E{L B (H%0 11 F£ERZ) 0 - 0
(4)EKMEER GEKE)
ERIER (m) ELIEE
B m"_ﬁ:% WEEAE | WHEEE |HEEAE
IR INEIN (%) (%)
(TR
ML HKE (HMSEEREA) 12 0 5714 5,726 0.2 0.2
=1L B4R (S0 11 FEXRZ) 12 0 5,714 5,726 0.2 0.2




(5) B2k hEE% (BEsKith R UigKith)

AT 8K (&) FEEkEES (mS/8) =L (%)
* R 2 FERKHEER 7 9,100
it A= T SR E e F A (RS FEEREFR) 2 4,500 495
i = I REE L (RIS EEREF =) 5 4,600
St B AR RRER (RS EEREH) 3 1,100
=L BR (S 1 FEXRZ) 2 4,500 495
(6) R THEE% (BLK R UE KR THERR
1 AT 4 (&R Ik EEH (mS/8) =L (%)
HRER TR 6 55,181
it 5= T SR E M F A (RS FEEREFR) 0 - 0
i = 1 REE L (RIS EEREF =) 6 55,181
SHit B R RRERE (RS EEREH) 6 55,181
mEL BR (R0 11 F£ERZ) 0 - 0




6 BMEMEOEERMFRICERTHKEEROMEL (LKEEE)
Kt~ BB FOEERREITOKEETR (BEKKE+HEKXE)
(D TRKELRERERNICE TR F D ERMRIHER T SEKE

ERIER (km) =L iE1E
HEEEE . )
[ HE#EE S . MEEE |MWEHSE
i3] L Bot i (%) (%)
(MREBR
B EOEELHRICERT 0.44 0 8.34 8.78 5 5
BEKE (SHSEERFR)
BlkKAKRE - - - - - -
BokXE 0.44 0 8.34 8.78 5 5
=L BZRE(H 1 FEXZ) 3.40 0 5.38 8.78 39 39
(2) FAKELEBRENCEITHHHEDEEMRICIERT SERKE
ERIER (km) i =L fE1E
BEE m’if;% WREAE| | BEEE | WEESE
ER LIt (%) (%)
(TR
EHHATEDOEELGHRICERT 5.09 0 21.78 26.87 18 18
BEKE (SFSEERBR)
BlkAKE - - - - - -
BokZE 5.09 0 21.78 26.87 18 18
mte=iL B4R (HF0 11 £EXRZ) 5.40 0 21.47 26.87 20 20




< ZEET ETFKEMBILEREEONS>S TKESEICEATIEHE >
7 FTKEDATLDAMEZOMEIL
(1) KIS (5K, LB SHEEEECRDMEERICIES)
1Bk HEES RS HBIE K. R AL
IZHZRA5ETOHEER
B FEER FEEE
ERYTL | mimir | EFYD | mmiex | EFYR | mmix | LESO | mmiex
IS LIRSS D LIRS D Sl
HA (%) R (%) R (%) (&) (%)
(&) () (&
HREEITH 1 1 1 1
Tt P AL IR 4 D 1 100 1 100 1 100 1 100
E
(HHSEERES)
it R HERE IR D 1 100 1 100 1 100 1 100
EEEFRE
(570 1 EEXRE)
(2) F/KNEZ~ TKLEIZEROREERMAETOTKEER
EHRER (km) MEILEE (%)
HELER 0.02
MEMREEREADER (FHSFEERFFR) 0.02 100
MEMREEERO BZER (S8 1 £FEXRIZ) 0.02 100
8 MHUFMENEEMBICERITOITKEEREFDMEL
(1 HHMFEORERE~ T KUESERNOREESRMAETOTKEER
EBRER (km) Mt EL 3 (%)
HMEEER 9.58
MEMREEREADER (FHSEEREFR) 7.93 83
MEMREREROBEER (S 11 £ERZ) 9.58 100




